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feature -- { NONE } —

LIST[OBSERVER]
feature -<{ OBSERVER }

—Dnotify +
-- Notify an update to observers
ensure
Yo : observers : o.update_to_date_with_subject

\_

g ﬁ SUBJECTT)) |

- - -

attach, detach

e el el S

observers

[ C_OBSERVER®)

feature -- { SUBJECT }
—update *
-- React to a update.

feature -- { SUBJECT }
up_to_date_with_subject: BOOLEAN *
-- Is current observer up to date with

-- the latest state of the subject?
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{ OBS
< notify
;’- :onty an update to observers
efisure

\
( SUBJECT+ B

feature -- { NONE }
(observers LlST[

//ﬂ“

Yo : observers : o.update_to_date_w 11/1_3 Mbj( ct

\_ _J

lm

- - -

humidity: REAL
-- Are current data within legal limits?

EATHER_DATA+
pressure: REAL
invariant

-
4

f?ﬂﬂ’:er(llm'ei REAL /
correct_limits (t, p, h): BOOLEAN
correct_limits (temperature, humidity, pressuure)

observers

(ot
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feature --
update *
-- React to a update.

{ SUBJECT }

feature -- { SUBJECT }

the latest state of the subject?

Id$7 L

up_to_date_with_subject: BOOLEAN *
1 -- Is current observer up to date with
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class SUBJECT create make
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feature - Attributes
observers : LIST[OBSERVER]
feature - Commands
make
do create {LINKED_LIST|[OBSERVER]} observers.make
ensure no._observers: observers.count = 0 end
feature -- Invoked by an OBSERVER
attach (o: OBSERVER) Add ‘o’ to the observers
require not_yet_attached: not observers.has (o)
ensure is_attached: observers.has (o) end
detach (o: OBSERVER) —-- Add ‘o’ to the observers
require currently attached: observers.has (o)
ensure is attached: not observers.has (o) end
feature -- invoked by a SUBJECT
notify —-- Notify each attached observer about the update.

do across observers as cursor loop cursor.item.update end
ensure all views_updated:
across observers as o all o.item.up_to_date _with_subject end]

class WEATHER DATA
inherit SUBJECT rename make as make_subject end
create make

feature -- data available to observers
temperature: REAL
humidity: REAL
pressure: REAL
correct_limits(t,p,h: REAL): BOOLEAN
feature - Initialization
make (t, p, h: REAL)
do
make_subject -- initialize empty observers
set_measurements (t, p, h)
end
feature - Called by weather station
set_measurements(t, p, h: REAL)

require correct_limits(t,p,h)
invariant

correct-limits (temperature, pressure,
end

humidity)

end
end
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EXPERSSION*

accept > VISITOR*

visit_constant(c: CONSTANT)*

accept(v: VISITOR)*

1

1

' @
'  visit_addition(a: ADDITION)*

1

1

1

1

E \
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( constant+ ) ( abpmon: ) MY EVALUATOR+ PRETTY PRINTER+ TYPE_CHECKER+
' visit_constant(c: CONSTANT) ISIf constant(c: CONSTANT)+ v:stt constant(c: CONSTANT)+
accept(v: VISITOR)+ accept(v: VISITOR)+ , visit_addition(a: ADDITION)+ visit_addition(a: ADDITION)+ wsrt -_addition(a: ADDITION)+
'
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1 | test_expression evaluation: BOOLEAN ED =
g ;gcal add, cl, c2: EXPRESSION ; v: VISITOR add a 1 'U‘)
4 _)create {CONSTANT} cl.make (1) ; create {CONSTANT} c2.make (2) \va\,q{)ﬁuﬁI 60}4 °
5 create {ADDITION} add.make (cl, c2)
6 '7 A%ATOR} v.make _{, MJL./Iﬂz[ézm
7 | ) (v)
8 ached {EVALUATOR} v as eval then / N \3\(,\7
9 Result := eval.value = 3 (: I —_
10 end ( \
11 end
r 2/
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deferred class VISITOR

visit_constant(c: CONSTANT) deferred end

_~>visit_addition(a: ADDITION) deferred end

end

clas VALUATZR inherit VISITOR

[valuels TRTEGER
o Vvisit_constant (c: CONSTANT) do ’

Qvisit_addition(a: ADDITION)
local eval left, eval_right: EVALUATOR

dof a. left.accept (eval_left)
a.right.accept (eval_right)
:= eval_left.value + eval_right.value

end
end

c.value end
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class CONSTW inherit EXPRESSION
accept (v: VISITOR) E/éldﬁ/ff?
do
v.visit_ constant (Current)
end
end
clas ADDITIO

rit EXPRESSION COMPOSITE

. ¥isit_ addition (Current)




